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1. A test which is designed to measure student's ability in a language is, regardless of any

special books or training they had in a language is called a(n) ................... .

(VoY eSSl 5L 3 s 9 39l (sl 3 303)

1) achievement test 2) diagnostic test

3) placement test 4) proficiency test

Al auzo £ o3y jS 21 Jlguw oy TSNALIF Ll 1S Guwly

a0 21 b L S > 338 Sy blgs Linziuw (51 12 63 Cuwl oo T (e (9o jT) “proficiency test” S,
U5 6l Usaso 9o T £95 (sl -Couawl 6353 aols Ui jgoT 62 by 635195 LyldwliS 62 335 6Siyl 6, 6595 19>y
ol gl ebdoeoges Laad 0 8515l oL jlgo I maRine juso g d3g 0 IS 6w SIS (L Jiwls (IS ahm

.St CEFR g IELTS .TOEFL Jolis lancygo T

505 slweiy jS w2

3oz uligeluisls 5 uaSsb gl juo Uizl (sl logygo )T ol +(<8 pling ¢goJT) Achievement test
Ol bl Win . 359ins0 L21sb Uain s GUS S, eallio L gols i jgol 695 Sy sl 38
Y L A RN

w>lb uljgoll) igd g wasus blas (olwlud gl ggo T ol (b.m.xzﬁ'u Us.oJrl) Diagnostic test
-8 i jgoT il (sla jlo Gulwl g 1) 395 Ui jgol Swlgis (laleo U 3gub 50

2108 gz 348 Sy S Uil ghu gass sl 0o )T g90 il (@ guuss ggo jT) Placement test

0L Sluuwgo b (s 6loygojT cJUio ¢lgicey .5gu0 65laiw! cuwlio 6393 b ulUS s gl ¢yl

093 j9oTylj IS 2Ll g5 iz o )T £95 (ul L3 | o j ol auzuo (proficiency test) 1 oS Ly

Ll oS b jgol 695 S ou Siuwlg

2. Which of the following tests is designed to identity learners' strengths and weaknesses
and skills they're particularly weak in? (\foY ( wcdSSI b5 s (s 5 G sel ooliiinsl ¢ 3030)
1) Achievement test 2) Diagnostic test

3) Placement test 4) Proficiency test
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ol auzo P oy S P Jlguw oy TSNALIF Lol )1S uwly

G2lub uljesTyl ed g imid blay ulwlud lu 63 Cuwl gojT (raskini (o T) "Diagnostic test” Sy
Solgi glodeo U a5l wasud lagT 4> ¢ljgoT b oS Cuwl uladsjlgo ¢3S yaRio «go T (il B .5gui,0

35S o joT 1S 6l s slinl 3o 1 95 U jooT
1503 (5lvo3ur S g

3oy uligeluisls Sl gljue wubjl Gl wygo)T gl :(wud piy ogo)T) Achievement test
P55 Ol Sbliol Uio . 35g4ns0 o>l b UaRiso L s WS S, asllho Ly i jgoT 693 Sy 331438

9l UdIS I8 age 338 Sy b j Uil gha g | g T ozl (@ guss ggejT) Placement test
.3 guln 50 638wl Luwlio 8595 L wlS >

88 4B 53 093y gl Sy s 338 LIS bles piziuw sl e 0go]T ol :(ylge wgejT) Proficiency test

Saiuus [ELTS g TOEFL ol Ly ygo T ¢pl I o2lo3gas . 5gu50 (o>l b ciuwl 635138 0 (i jgol (5ldo 59

w213k 1 98T card bl bbb 5l G183 (90T (gl | el o (Diagnostic test) ¥ oay S

Cowl 030

3. What kind of testing reveals a candidate's performance comparing to the performance

of other candidates? (\FoY (Sl ol s s 5 Jo) el salbiti] & 3030)
1) Norm-Referenced Testing 2) Discrete Point Testing

3) Integrative Testing 4) Criterion-Referenced Testing

/ <l 220 | oy S i1 Jlgw og TSNA.ir ulud 1S gty

G2l U3 3380 saulio byl julw 3jSloe b 1 calbgls Sy 3 jSloe 68 Cuwl (90T yegy (JlRisd g iz ygoT)
Jlogs a0 6y Ugaso loggo T (ol -3940 (et GBSSES i ol glio > gl 080l ubwl g 358 0505 (g
Joe 09952 31,81 I 55955 b dwnlio 53 348 Sy 68 Cuwl ¢l g3 S yadio oy B g S oliulg Wl 05 &1 jgs

Cuwl 6,8

J
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4. When testing focuses on one element at a time, for example passive structure, it is a
A R S testing. (\f°* c"w.:.\g.ﬂ UL.’.} e ‘Ui'-)}ﬁ 9 u;’v}jﬁ]’@'.»‘k‘;«l' O}AJ'T)
1) integrative 2) criterion-referenced

3) discrete point 4) norm-referenced

ol 'cxam » Ql.g_js e d|3.u.l oy TSNA.ir uuu.fl'uls EIDLJ?

|20 g 038155 5 yga060 (b j paie yo gl 4> oS Cuwl oo JT egs (5lobansSs ygo jT) Discrete Point Testing
hid SUlgw g 35S S jo3 (Passive Voice) Jggzo sl Lislu (59 bid ;ig0jT jSI (JUio ¢lgicoy . 39450 (2Ll
OUlgw Jobi Ugaso (g0 T &P ol g0 wguwzo (glahdnSy go T T oz 1y 0l S 63Ss ¢l

S0 Sloein JS a0

S Uio - Sy S5 900y | b o lgo o )T ol +(6204Se wgeJT) Integrative Testing
(L.,lbtsl.? L u.n.o) Cloze Test suwlo ulaaygo T .51 (550l 5S il g walhio S5 (lo josd 6w jLi 68 Jlgaw
Sl €9 o=l gl

L Jlso Sy b calbgls 5 Slac (g0 T g95 wal s :(Jlmo g2 xiuo (g0 jT) Criterion-Referenced Testing
&lgo 3,48 UT 53S0 a2 65 390 5T Wi .¢ylulbgls jubuw 3 5Shoc b 63 <390 duwlio azio 3 135wl
23 b cuwl 038 CuwS | oS

Oldbgls pbw 3)Sdac b 1) 348 3 jSloe (go T o2l :(Jlasd g iz gojT) Norm-Referenced Testing

S £95 (gl I 2oosges GRE SAT sl sl ssbiwl sldggo T . 35S0 oumlio

Jlgw y2 43 ols b paie Su 59y 2 g9o)T €99 wl 2] «uwl @uzo (discrete point) P oaujS Juy

Syl S 05

5. What kind of validity is considered when a test includes a proper sample of the relevant

Structure? (\f°* cw&| Ql{j B c‘_;a‘)jjg 9 ‘ja}}nTuﬂb}ﬁuﬂ‘ u}djT)
1) content validity 2) criterion related validity

3) validity in scoring 4) face validity
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Cuwl 2uzo 1 6338 20 Jlgaw o3 TSNALIF Ll IS Gl

J148 68 huijo slacylgo g s jLisbu b 90T Su slgize Golhi ¢l juo 6u (L.,.alg.a.n L::!|9J) Content validity

o_\Lmo_'h'hL\S‘sg_,#bﬁé Lol <3S (L jyl IJo.'bchSSLsLmuLo_iUmyomylpplﬁug.oﬂ_tjﬁﬁl :JUio @
w219y 3385 g > |y (past perfect, past continuous) eciidS glaglo) ouds g 338 jS a5 (simple past)

.dgs dalgS u.uLl uT wolgizo
S ldoy S g

2382 9o T 2L 68 33850 w219 €95 ol :(Jlimo o siuwlg g ) Criterion-related validity o
Juib Sy > 38 Cuddgo Molgih gl o)l So a0 jSI o JUio lghesy . uwl buijo 52515 jleo Su b
ol jlso 6y ouwlg 219y 1S ggojT xS Ghuyiny 1) Yol

OS00 bol s (6 jlungygo JT 3 (5 im0 ole pUbuol o S ol (1,36 303 43 219 y) Validity inscoring e
b oibl> &Lkl 5930305 45 s b (Reliability) oLl oo cuowl

oSyl iy ¢35l oLkl B aaaSeuS 1 Sus I ygo T jalb 6o (g &P ol :(ls_}.blB l::!IQJ) Face validity e
- FiBaes ole glaul=s o8 jS JB 53 93y 09 b Saw 0 B 00 iz Jgl 655 45 ygo T LT

o 63900 (90T LT 68 3uS50 w12 o219 €99 Ul 12 «uwl 2uzo (content validity) 1 e jS Guy

03 390 Jolis 1 b 330 5lgizo I

6. If the candidates repeat the exact score regardless of what happened to be

administered, then test reliability coefficientis ..................
(VoY (eSS G5 s s n 5 o5 38] (el ¢ 53T)
1)0.5 2)0.25

3)0 41
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